
Samson
Spot

the
 

Difference

Honey
Trail

There 
are 2 sentences.

 Start at the 
arrow twice and 
use the first few 
letters twice.

Starting 
at the arrow, 

track through 
the letters 

to find what 
Samson said in 
answer to the 

riddle . 

You can 
 only move to a 
hexagon whose 
sides meet. 

NH ?L O

W N RE?
TH HY

E A ENA
HG OI

EN SR
R W TST

A NIA
TOT E

_ _ _ _   _ _   
_ _ _ _ _ _ _ _   

_ _ _ _   _ 
 _ _ _ _ 

_

_ _ _ _   _ _   
_ _ _ _ _ _ _   

_ _ _ _  
_ _ _ _ _ 

_

Can you find ten 
differences between the 
two pictures of Samson 
and the lion?

Draw 
a bee 
in the 
empty 
cell .

Did you know?-
Honey bees need 

nectar from 
two million 

flowers to make 
one pound of 

honey.

Answers in next Quiz week.


